
Y3 – Autumn – Block 2 – Step 12 – Subtract 2-digit numbers from 3-digit numbers – crossing 10 or 100 
Answers

Question Answer

1

a) subtraction created using base 10
b)

2 344

3

a) 227
b) 133
c) 463
d) 170 cm
e) 348
f) 768

4 384

5
a) 683
b) 559

6
a) The person has found the difference between the numbers in each column.
b) The person has exchanged 1 hundred for 10 ones.

7
Whitney has counted on 357 from 78. First she counted on 22 to 100 and then worked out 
the difference between 357 and 22

8

a)

b)

9

a) three different methods showing 470 – 79 = 392, e.g. using base 10, column 
subtraction, counting on from 79

b) multiple possible answers, e.g.
500 – 60 – 8
500 – 70 + 2
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